MESAREME FROCS JHAAPTEENERNER (R6.8.1~)
ENEE BEXiE1 BEXiR2 ENiE ENiE2 ENiE3 ENiE4 EN &S
IR E= I =y MRUE S =y MEIEE =y MR =y MEIEE =y MR o=y MRS
Mg —e 2% 641 M 810 M 859 M 907 M 974 M 1,030 [ 1,085 M
# Pr— AR LA I 23 H 23 H 23 H 23 H 23 M 23 H 23 [
i Tk 5 N g 25 M 25 H 25 M 25 M 25 M 25 M 25 M
at 689 M 858 M 907 M 955 [ 1,022 M 1,078 M 1,133 M
s AR 820 M 820 M 820 M 820 M 820 M 820 M 820 M
;Q i 300 M 300 M 300 M 300 M 300 M 300 M 300 M
ke 1 H A 1,809 F4 1,978 M 2,027 M 2,075 [ 2,142 [ 2,198 M 2,253 A
g |WHTER 820 M 820 M 820 M 820 M 820 M 820 M 820 M
é i 600 M 600 M 600 M 600 M 600 M 600 M 600 M
ke 1 H A 2,109 [ 2,278 M 2,327 [ 2,375 [ 2,442 [ 2,498 M 2,553 M@
B | WEE 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M
é " 1,000 1,000 F 1,000 [ 1,000 F 1,000 [ 1,000 1,000 [
% 1 AF Rk 2,999 M 3,168 M 3217 M 3,265 M 3332 M 3,388 M 3443 M
B | WEE 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M 1,310 M
é mE 1,300 1,300 M 1,300 M 1,300 F 1,300 [ 1,300 F 1,300
% 1 AF Rk 3,299 M 3,468 M 3517 M 3,565 M 3,632 M 3,688 M 3,743 M
- TTE# 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M
é % ¢ 1,445 [ 1,445 M 1,445 [ 1,445 M 1,445 [ 1,445 [ 1,445 [
B 1 4,200 M 4,369 M 4418 M 4,466 M 4,533 M 4,589 M 4,644 M
R = HAEBSAT ARMENRE (1,000/8) HBRAEASAT S=XUFUAE(2,000) HAE BE, S=FyFAHE(5000/H)
Bl& B ME MR B MEREMHE I REAIIZ75/1000& FL-BEAKD—EIS5)
ERmE FERME (BA/R) UM 189/ F#) BRI/ NEYT—a ME(247M/E)
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NESARERE BRODCS  RHRAESNERER (R6.81~)
ENEE EXE EXiE2 ENE Erig2 ENiE3 ENigs ENiES
FH === A=y MUffE | a=yMEfEE | 2=gMUEE | o=y MUfEE | asyMHEER | 2=y MEEsE | =y MIESE
Mgk —E 2% 1282 M 1,620 M 1,718 M 1814 H 1,948 M 2,060 M 2,170 M
s | e ARG 46 M 46 M 46 [ 46 M 46 M 46 M 46 M
B | e 2 N 50 M 50 M 50 M 50 M 50 M 50 M 50 M
7t 1,378 M 1,716 M 1,814 A 1910 A 2,044 M 2,156 M 2,266 M
2 |WIER 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M
2} gy 1,445 M 1445 A 1,445 M 1,445 M 1,445 M 1,445 M 1,445 M
1811 pRAE 4,889 M 5227 M 5325 M 5421 M 5,555 [ 5,667 M 5777 A
RN HRIEBAA T ARENME(1000/8) $HHEAZAT IoXUFHE(2000) HRHE AR, I=HyFUFE(5000/8)
Al EME NEMEMBREME [ REA3IZ75/1000% RUF-BAHO Z515)
B3InE BEBME(16M/8) #OME (378F/FiE) AR/ N\EYT— a3 E494M/[E)
I RETREEE! |
MESARERE BERODCS  RPABENERER (R6.81~)
ENEE EXE BEXiE2 ENiE B2 EMiEs B4 EMiE5
FIHE=E o=y MEE o=y MEE 2=y MRIEE o=y MEE 2=y MRIEE R 2=y MREE
Mg —e 2% 1,923 M 2,430 [ 2,577 M 2,721 M 2,922 M 3,090 M 3,255 M
# | YRR 69 M 69 M 69 M 69 M 69 M 69 M 69 M
B |z i 2 P L 74 H 74 H 74 H 74 H 74 M 74 H 74 M
B 2,066 M 2573 [ 2,720 M 2,864 M 3,065 M 3,233 M 3,398 M
3 |TER 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 M 2,066 [
%é“ iy 1,445 M 1,445 [ 1,445 M 1,445 [ 1,445 M 1,445 [ 1,445 H
1811 p AR R 5577 M 6,084 M 6,231 M 6,375 M 6,576 M 6,744 M 6,909 M
1R HRIEBAAT ARENME(1000/H) HHEAZAT I2FUFHE(2000) HRHIE AR, I=HYFUME(5000/8)
Bl @ ME NEBENEREME I (REAIKIZ75/10002 R CI-EHBD=E15)
&3 nE BRERNME4M/R) XUME(567M/FiE) ERINEYT—armET41H/E)




